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1L £V () =e7; 3(0)=2 2@ 5(10%)
e—2x 5 e——2x 5 e—2x 5 e—2x 5

(A= T BT L (O T, )Y
2. £y +(x+Dy=e" ¥’ y(0)=0.5 Z #8 2(10%)
@) =1/ -3¢, B)»* = 1/le” 1+3¢)), (€)% =1/ 1= 26)),

(D) y? = 1/(ex2 (1+ 2€3x))

3. ky'-4y'+4y =2e*";y(0)=1,y"(0) =3 Z 2 5(10%)

(A)y:_e2x_2xe2x_x2e2x,(B)y282x_2xe2x+x262x,

(C)y____€2x+2xe2x_x2e2x,(D) y:e2x+2xe2x+x2e2x
4. FABRBRF % RY'H9y=10"; p(0)=0,'(0)=0 2 42 4(10%)
(A)Y = e’ +cos3t+%sin3 z‘, (B)Y =e ! _005314_%31113;,

-1 1 . -1 1 .
(C)y=e —cos3t+-§sm3t’(D)y:e +cos3t—§s1n3t
5. AR RB KRBT E > RF()=e"" /(5> +25+2) 22 5(10%)

(A) f (1) = =" cos(t—mu(t - z) , B) f(t) = ~¢ " sin(t — m)u(t - 7),

O f()= e U™ sin(t — m)u(t - 7) , (D) f()= e ") cos(t — m)u(t - )
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6. #| F $8#H(Convolution), K y(r)+2[y(v)cos(t —7)dr = sint 2 #& % (10%)

(A) () =~te™" , (B)y() =te™", (C) y(t) = ~te' , (D) y(1) = te'

7 ;]‘{xzy"—ny'+2.25y =0, y(1)=2.2, y'A1)=2.5 Z 2 %(10%)
(A) Y= 2.2x" +0.8x" In|x| B)) = -2.2x" - 0.8x"? ln]xl ,
(C)y=-22x"+0.8x"Inx|, D)y = 2.2x"° = 0.8x"" In|x|

8. sk cosh(x—y)+xsinh(x—y)—xsinh(x—y)y'=0; y(4)=4 Z f2 %(10%)

(A)xcosh(x-y)=4, (B)xsinh(x—y)=2, (C)xcosh(x—y)=2, (D) xsinh(x—y) =4

sl T 0= 10,006
. MABRBRT %> R )y =4y 4y, 70 72 X $# R (10%)
_yl___l_—z 1] 5 B2 “_—1—4_ L5
(A) 5, = _ 2—6 +2-2_e , (B) _yj = B 2—8 2[2}6 ,
—yl—__”l——r 1] 31 Bz __—1——1 L5
(C)_yz ———_2_6 —2_2-6 ’(D)_yj_ __2_6 +2[2}e

10. R@glc2cosh(4z)dz » fd C B -7i/16 B wi/16 2455 BAE » LMY (10%)
(A)-i2/2,B)iN2/2,(C)N2/2, (D)-~2/2



